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(a) -75
—75=—1%25X3=—1%X25%x3=513
(b) -49
—49=-1%x49=-1x%x49="71
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(a) —27x—48

—27Xx—=48=-1x27Xx-1x48=19x3X116X3=129%X3x16X3=36i2=—
36

(b) =50x—4i
—50X—4i=—1x50x(—41)=512x(—41)=—-20212=202
(c) 12021
12021=(12)1010xi=(-1)1010xi=i
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X+5+(4y—9)i=12-5i :abslrall oMezi uilll puisinanl] Y doudg ¢ dosd azlX

X+5+(4y—9)i=12-5i-x+5=12 , 4y—9=-5-x=7 , y=1
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(@) z=2+7i
z=2+71,z =2-71

Im: z =2 +7i

* Re
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(b) z=-3-2i

z=—3-21,z =-3+2i
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(c) z=-3i
z=-31,z =31
Im e
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z=—3i
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(a) z=-3-6i2
z=—3-6i2-|z|=(-3)2+(-62)2=81=9
(b) z=-2i
z=—2i~|z|=(0)2+(=2)2=4=2
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(c) z=4+-20

z=4+-20=4+-1%x20=4+120-|z|=(4)2+(20)2=36=06
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(a) z=8+21
z=8+2iArg(z)=tan—1(28)=0.24
(b) z=—54+12i
z=—5+12iArg(z)=n—tan—1(125)=1.97
(c) z=—2-31
z=—2-3iArg(z)=—(n—tan—1(32))=-2.16
(d) z=8-8i3
z=8-8i3Arg(z)=—tan—1(838)=—u3
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(a) |z|=42,Arg(z)=—314
|z|=42,Arg(z)=—3m4z=r(c0s0+isin0)=42(cos(—3n4)+isin(—314))
(b) z=—4-4i
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z=—4-4i-r=|z|=(-4)2+(-4)2=42Arg(z)=—(n—tan—1(44))=-304
z=r(cos0+isin6)=42(cos(—3m4)+isin(—314))
(c) z=21

z=2i-1=|z|=(0)2+(2)2=2Arg(z)=n2z=r(cos0+isin0)=2(cos(m2)+is
in(2))
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